VANTAGE Value Advantage 36" Direct Vent Millivolt Burner Assembly

MODELS: VCD36RN, VCDI6RP, VCDI&ETN, VCD36TP

Part Number Description
1 116317-01 Remote/lgnitor Bracket
2 114886-01 Door Retainer Bracket
3 108085-01 Pilot Orifice #5171 (Std. Natural)
108085-02 Filot Orifice #30 (Propane)
108085-03 Pilot Orifice #62 (HA Natural) &
4 108084-02 Pilot Assembly (Std. Natural)
108084-05 Filot Assembly (HA Naural) ('}0
108084-03 Pilot Assembly (Propane) ey
5 27206 Bumner Orifice #44 (Natural)
26482 Burner Orifice #55 (LP)
6 26808 Valve Bracket ™y
7 24389 Tube 3/8" Dia. x 11" Alumping
8 24360 Pilot Bracket - N
9 14500 Fitting 3/8" MPT
10 14399
11 14396
12 14389
117370-01
14390
13 14299

14 097159-04

nrmr Piezo

asher, Flat 7/8" 1D x 2" OD

15 11 226@ x 1/8" Thick

16 11214 Fitting Bulkhead w/ Nut Brass
17 11187 Screw, #8 x 1/4" PPH

18 11107 Screw, #10-32 x 1/4" PPH Zinc
19 11105 Screw, #10 x 1/2" HWH LGM Zinc

20 11102 Screw, #8 x 3/8" PPH F Zinc




